MIAMIDADE

MIAMI-DADE COUNTY

COUNTY PRODUCT CONTROL SECTION-
DEPARTMENT OF PERMITTING, ENVIRONMENT, AND REGULATORY 11805 SW 26 Street, Room 208
AFFAIRS (PERA) Miami, Florida 33175-2474
BOARD AND CODE ADMINISTRATION DIVISION T (786) 315-2590  F (786) 315-2599
NOTICE OF ACCEPTANCE (NO A) www.miamidade.zovipera/

Rollac Shutters of Texas, Inc.
5331 W. Orange Street
Pearland, TX 77581

Scork:

This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed and accepted by Miami-Dade County PERA-
Product Control Section to be used in Miami Dade County and other areas where allowed by the Authority
Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Section (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right
to have this product or material tested for quality assurance purposes. If this product or material fails to
perform in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may
immediately revoke, modify, or suspend the use of such product or material within their jurisdiction. PERA
reserves the right to revoke this acceptance, if it is determined by Miami-Dade County Product Control
Section that this product or material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone.

- DESCRIPTION: RLL-3 Slat Extruded Aluminum Roll-Up Shutter — L.M.I.

APPROVAL DOCUMENT: Drawing No. 12-037, titled “RLL-3 Slat Roll-Up Shuitter”, prepared by
Tilteco, Inc., sheets 1 through 13 of 13 (including sheet 1A), dated 02/17/2012, signed and sealed by Walter
A. Tillit, Jr., P.E,, bearing the Miami-Dade County Product Control revision stamp with the Notice of
Acceptance number and expiration date by the Miami-Dade County Product Controi Section.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LLABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state, the
following statement: "Miami-Dade County Product Control Approved” and NOA number, per TAS 201,
TAS-202, and TAS-203, unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been
no change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change
in the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of
any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to
comply with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed
by the expiration date tmay be displayed in advertising literature. If any portion of the NOA is displayed, then
it shall be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its
distributors and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # 09-0303.27 and consists of this page 1 and evidence page E-1, as well as approval
document mentioned above,

The submitted documentation was reviewed by Carlos M. Utrera, P.E.

NOA No. 12-0315.14
Expiration Date: May 26, 2013
Approval Date: June 7, 2012

T

MIAMI-DADE COUNTY

APPRCVED



Rollac Shutters of Texas, Inc.

NOTICE OF ACCEPTANCE: EYIDENCE SUBMITTED

A, DRAWINGS
L Drawing No. 12-037, titled “RLL-3 Slat Roll-Up Shutter”, prepared by Tilteco, Inc.,
sheets 1 through 13 of 13 (including sheet 1A), dated 02/17/2012, signed and sealed
by Walter A, Tillit Jr., P.E.

B. TESTS “Submitted under NOA # 09-0303.27”
1. Test reports on 1) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
4) Tensile Test per ASTM B557-06,
Along with marked-up drawings and installation diagram of Series R1.1.-3 Extruted
Aluminum Roll up Shutter, prepared by Fenestration Testing Laboratory, Inc., Test
Report No. FTL # 5853, dated 02/19/2009, signed and sealed by Carlos S. Rionda,
P.E.

C. CALCULATIONS “Submitted under NOA # 09-0303.27”
1. 2007 FBC revision calculations of RLL-3 Slat Roll-up Shufters, prepared Tilteco, Inc.,
sheets 1 through 119 of 119, dated 06/29/2009, signed and sealed by Walter A. Tillit,
Jr.,, P.E. : :

D. QUALITY ASSURANCE
1. Miami-Dade Department of Permitting, Environment, and Regulatory Affairs (PERA)

E.  MATERIAL CERTIFICATIONS
1. None.

F. STATEMENTS
1. Statement letter of code conformance to 2010 FBC issued by Tilteco, Inc., dated
03/13/2012, signed and sealed by Walter A, Tillit, Jr., P.E.

“Submitted under NOA # 09-0303.27”
2. No financial interest letter issued by Tilteco, Inc., dated 07/15/2009, signed and sealed

by Walter A. Tillit Jr., P.E.
‘ Zas%sf/ﬂ" 2

Carlos M. Utrera, P.E.
Product Control Examiner
NOA No, 12-0315.14
Expiration Date: May 26, 2013
Approval Date: June 7, 2012



GENERAL NOTES:

. ROLL-UP SHUTTER SHOWN ON THIS PRODUCT APPROVAL DOCUMENT (P.A.D.) HAS BEEN VERIFIED FOR CODE
COMPLIANCE IN ACCORDANCE WITH THE 2007 & 2010 EDITIONS OF THE FLORIDA BUILDING CODE. THIS

ROLL~UP SHUTTER MAY BE INSTALLED AT HIGH VELOCITY HURRICANE ZONES (MIAMI—DADE/BROWARD COUNTIES).

DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTIONS 1620 OF THE ABOVE MENTIONED CODES, USING
ASCE 7-05 STANDARD FOR INSTALLATIONS UNDER 2007 FBC & ASCE 7-10 FOR INSTALLATIONS UNDER 2010
FBC AND SHALL NOT EXCEED THE MAXIMUM (A.S.D.) DESIGN PRESSURE RATINGS INDICATED ON SHEETS

5 6 & 8 THRU 13, :

IN ORDER TG VERIFY THE ABOVE CONDITION, ULTIMATE DESIGN WIND LOADS DETERMINED PER ASCE 7-10 SHALL

BE FIRST REDUCED TO A.S.D. DESIGN WIND LOADS BY MULTIPLYING THEM BY 0.6 IN ORDER TO COMPARE THESE
W/ MAX. (A.S.D.) DESIGN PRESSURE RATINGS INDICATED ON SHEETS 5, 6 & B THRU 13.

IN ORDER TO VERIFY THAT COMPONENTS AND ANCHORS ON THIS P.A.D. AS TESTED WERE NOT OVER STRESSED,
A 33% INCREASE IN ALLOWABLE STRESS FOR WIND LOADS WAS NOT USED IN THEIR ANALYSIS.
FASTENERS SPACING INTO WOOD HAS BEEN DETERMINED IN ACCORDANCE WITH N.D.S. 2005.

ROLL-UP SHUTTER'S ADEQUACY FOR IMPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE
WITH SECTION 16268 OF THE ABOVE MENTIONED CODE AS PER TAS—201, 202 & 203 PROTOCOLS, AS PER

HURRICANE TESTING LAB. REPORTS # 0187-0407-99, 0187-0423-99, 0187-0413-09, 0187-0414-99.

2. ALL ALUMINUM EXTRUSIONS SHALL BE ALUMINUM ASSOCIATION 6063-T5 ALLOY & TEMPER
{UNLESS OTHERWISE NOTED).

. ALL SCREWS TO BE STAINLESS STEEL 304 OR 316 AIS| SERIES OR CORROSION RESISTANT COATED CARBON
STEEL AS PER DIN 50018 WITH 50 ksi YIELD STRENGTH AND 90 ksi TENSILE STRENGTH,

ALL TEK SCREWS SHALL BE AS MANUFACTURED BY ITW BUILDEX, INC. AND SHALL COMPLY W/ FLORIDA
BUILDING CODE SECTION 2411.3.3.4.

BOLTS TO BE ASTM A-307 GALVANIZED STEEL OR AISI 304 SERIES STAINLESS STEEL, WITH 36 ksi MINIMUM
YIELD STRENGTH.

. STORM BARS AT FLOOR AND CEILING MOUNTING INSTALLATIONS MAY BE REMOVABLE AT NON HURRICANE
CONDITIONS. HOWEVER, EACH STORM BAR SHALL BEAR A PERMANENT LABEL IN A VISIBLE PLACE WITH A
WARNING NOTE INSTRUCTING THE TENANT OR QWNER THAT STORM BARS MUST BE INSTALLED WITH

CORRESPONDING HARDWARE DURING PERIODS OF HURRICANE WARNING AND THAT ROLL UP SHUTTERS WILL NOT
OFFER HURRICANE PROTECTION UNELESS ALL STORM BAR ARE INSTALLED AS DIRECTED.

. ANCHORS TC WALL FOR SIDE RAILS & BOX CONNECTION SHALL BE AS FOLLOWS (UNLESS OTHERWISE NOTED):

(A) TO EXISTING POURED CONCRETE {Min. f'c=3192 psi):
— 1/4"8 TAPCON ANCHORS, AS MANUFACTURED BY ITW BUILDEX, INC.

NOTES:
A1) MINIMUM EMBEDMENT OF TAPCON ANCHORS INTQ PQURED CONCRETE IS 1 3/4". NO EMBEDMENT INTO
STUCCO SHALL BE CONSIDERED AS PART OF THE REQUIRED EMBEDMENT.

A2} IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON THE EXISTING
WALL OR FLOOR, ANCHORS SHALL BE LONG ENOUGH TCO REACH THE MAIN STRUCTURE BEHIND S

PANELS. ANCHORAGE SHALL BE AS INDICATED ON NOTE A.1 ABOVE.

(B) TO EXISTING CONCRETE BLOCK WALL (ASTM C—90):
— 1/4"¢ TAPCON ANCHORS AS MANUFACTURED BY ITW BUILDEX, INC, Expirati

NOTES: By

B.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS INTQO CONCRETE BLOCK UNIT SHALL BE 1 1/4" M

B.2) IN CASE THAT PRECAST STONE OR PRECAST CONCRETE PANELS BE FOUND ON THE EXISTING WALL,
ANCHORS SHALL. BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS.
ANCHORAGE SHALL BE AS INDICATED ON NOTE B.1 ABOVE,

(C) TO EXISTING WOOD FRAME BUILDING: SOUTHERN PINE #2 W/ G=0.55 MIN.
- 1/4"8 LAG SCREWS PER N.D.S.

NOTES:

C.1) MINIMUM THREADED PENETRATION OF LAG SCREWS INTO THE WOQD FRAME UNIT SHALL BE 1 1/2"
NO THREADED PENETRATION INTO STUCCO SHALL BE CONSIDERED AS PART OF THE REQUIRED

Yeldouer revisen
Duildicg NOEZ %2 P:E§C) THIS P.AD. WILL BE CONSIDERED INVALID IF ALTERED BY ANY MEANS,

7. ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF THE

ANCHOR'S MANUFACTURER.

8. ANCHORS REQUIRED FOR STORM BARS, HEADER & MULLIONS CONNECTIONS TO CONCRETE (MIN. f'c=3000 psi)
SHALL BE AS SPECIFIED ON APPLICABLE SECTIONS SHOWN ON SHEETS 5, 6, 7 & B OF 13 RESPECTIVELY.

—CALK~IN ANCHORS TO BE AS MANUFACTURED BY POWERS FASTENERS, INC.
—TAPCON ANCHORS AS MANUFACTURED BY ITW BUILDEX, INC.
—KWIK BOLT TZ EXPANSION ANCHORS AS MANUFACTURED BY HILTI, INC,

MINIMUM EDGE DISTANCE AND SPACING FOR ABOVE MENTIONED ANCHORS SHALL BE AS INDICATED BELOW OR
AT ABOVE MENTIONED SHEET. EDGE DISTANCE AND EMBEDMENT ARE BEYOND ANY FINISH MATERIAL.

ANCHOR
—1/4"¢ TAPCON
—1/4"8 CALK—IN
-3/8"8 CALK=IN
~1/2"8 CALK-IN

—5/16"¢ TAPCON XL
~3/8"8 KWIK BOLT TZ

SPACING EDGE DISTANCE
3” 3"
2 1/2" e
3 3/4" 4 172"
5" g
3 3/4" i
6" 4 3/8"

CONCRETE, BLOCK QR WOOD FRAME BUILDINGS.

POURED CONCRETE
i 3/4" (Min.

7/8" (Min.
1 1/4" (Min.
1 1/2" (Min.

2" (Min. f'c=3000 psi)

IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE WHERE
SHUTTER IS TO BE ATTACHED TO INSURE PROPER ANCHORAGE. THIS SHUTTER SHALL ONLY BE ATTACHED TO

f'le=3192 psi)
f'e=3000 psi)
f'c=3000 psi)
f'c=3000 psi)

MINIMUM EMBEDMENT

. THE INSTALLATION CONTRACTOR IS TO SEAL/CAULK ALL SHUTTER COMPONENT EDGES WHICH REMAIN IN

CONTINUCUS CONTACT WITH THE BUILDING TO PREVENT WIND/RAIN INTRUSION. CAULK AMD SFAL SHUTTER
TRACKS ALL AROUND FULL LENGTH.

1.

APPROXIMATELY 4" ABOVE THE BOTTOM OF SUCH RAIL.
LABEL SHALL READ AS FOLLOWS:
ROLLAC SHUTTER OF TEXAS, INC,
PEARLAND, TX.

MIAMI-DADE COUNTY PROBUCT CONTROL APPROVED.

12.
AGENCY,

13.

AND ZONING REGULATIONS PROVIDED BY THE JURISDICTION WHERE PERMIT IS APPLIED TO.

14.

SPECIFIC PROJECT; i.e. WHERE THE SITE CONDITIONS DEVIATE FROM THE P.A.D.

SHUTTER MANUFACTURER'S LABEL SHALL BE PLACED ON THE EXPOSED SURFACE OF THE SIDE RAIL

ROLL-UP MECHANISM NOT PART OF THIS APPROVAL, BUT SHALL BE CERTIFIED 8Y AN INDEPENDENT TESTING

ROLL—-UP SHUTTER INSTALLATION SHALL COMPLY WITH SPECS INDICATED IN THIS DRAWING PLUS ANY BUILDING

{a) THIS P.AD. PREPARED BY THIS ENGINEER IS GENERIC AND DOES NOT PROVIDE INFORMATION FOR A SITE

(b) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION INCLUDING LIFE

SAFETY OF THIS PRODUCT, BASED ON THIS P.A.D. PROVIDED HE/SHE DOES NOT DEVIATE FROM THE

CONDITIONS DETAILED ON THIS DOCUMENT, CONSTRUCTION SAFETY AT SITE IS THE CONTRACTOR'S
RESPONSIBILITY.

CONCRETE BLOCK
1 1/4" (ASTM C-90)

d) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED ENGINEER OR ARCHITECT WHICH

WILL BECOME THE ENGINEER OF RECORD (E.O.R.) FOR THE PROJECT AND WHO WILL BE RESPONSIBLE
FOR THE PROPER USE OF THE P.A.D.

ENGINEER OF RECORD, ACTING AS A DELEGATED ENGINEER TO THE P.A.D. ENGINEER, SHALL SUBMIT TO
THIS LATTER THE SITE SPECIFIC DRAWINGS FOR REVIEW.

(e) THIS P.AD. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE PROFESSIONAL ENGINEER

OF RECORD THAT PREPARED IT.

. ;ﬂﬂ”;,,"

-

RTLLILITIN

S (BN

“‘..:,;'@ A Tl

17/

.

-
an
-

-
-
-
-
-

1 3/4" (ASTM C-90, GROUT FILLED)

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

s w3 ©2012 TLTECO, INC. RLL—-3 SLAT ROLL-UP SHUTTER f,”;fﬁ’},cf”'
THREADED PENETRATION, N - 2> %
C.2) MINIMUM EDGE DISTANCE OF LAG SCREWS INTO WOOD SHALL BE AS INDICATED ON SHEET 9. I AT 27 Ko %Y / l".IE cCoO \ ROLLAC SHUTTERS OF TEXAS, INC.| °x/v
C.3) IN CASE THAT PRECAST STONE, PRECAST CONCRETE OR BRICK PANELS, VENEER OR PAVERS BE 3 V oF ¢ N INC. 5331 ORANGE STREET ATE
. FOUND ON THE EXISTING WALL, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN SUBSTRATE Y ‘,‘}, STATE ; &}' N TILLIT TESTING & ENGINEERING COMPANY PEARLAND, T 77581
BEHIND SUCH PANELS., = 0/0 /‘ZOR\D‘\.-' é_ﬁf \\‘ R A ML o B el PHONE: (B00) B80-0922, FAX: (281) 485-0839 12-037
MINIMUM THREADED PENETRATION SHALL BE AS INDICATED ON NOTE C.1 ABOVE. =Y 6\6‘ ‘,q‘ s~mall. titeca@acl.com Fiv. e | escRmmon ae | awv. e BESCRTION e | DRAWING No
e ONAL S ¢ oo B3 i i s sweer 1 o 1
FFFFFIVeY




MAXIMUM HEADER SPAN (SEE SCHEDULE)
b, e —( :) pu-38  Bvr :) — ) @0R®
Cont.
' / L/ /
® 7 @ , “
\\V!.a' l
% : 5567 57567 5567 54567 §
Ru— A
E — = A = —— = = = a e e | V700 4 5—
G R4 E7% £Z2 £/4 P/4 52567 T S P/ %
: OOO* D—24 :
X 1
i (T, —] —— 2
N
;,'/M g
(Typ. Ea. END) % %
Zl : +
prrs Mox. SLAT SPAN (SEE SCHEDULE) |» W-3/8 |ﬁ» V7 ‘_‘ ‘
Mox. SLAT SPAN (SEE SCHEDULE) Max. STORM BAR SPACING (SEE SCHEDULE) | .
TYPICAL SINGLE UNIT ELEVATION (NO STORM BARS REQUIRED) TYPICAL MULTIPLE UNIT ELEVATION (STORM BARS REQUIRED)
NOTE: SEE SHEET 2 & 3 OF 13 FOR COMPONENTS NOMENCLATURE. NOTE: SEE SHEET 2 & 3 OF 13 FOR COMPONENTS NOMENCLATURE.
@@
How. McLLiow sPmm‘l Vox. MULLION SPAGIG (SEE SCHEDULE) @0R®
L L[l) W-1,/8 /_® L 2/8 E v/5,6,7 W-2/8 D567
®\/ L (L, L, X4 7794 71777 Ll
Il 7T | I/ T o@®
@Q*r if i | e' I
'@@OR@‘ i il ®\I ” \\// I [
2 2
8 \©@ OR @\ i G4 5e65:7 5/5,6:7 l | 5567 56,7 | ‘ 93
§ | | I | | —_—— 2t —| e = —— § (E
é | | e e ! = ty w2
: | I > e e [ ~ || 83
g Q4 &4 At ~RA—] lsA56.7 5456 - &
5 | I — = | f I 5z
% = |—‘? || Rt — A @@@0'?@\ a—— it {\fﬁg
s ot G | l (Tvp.) T i —] | l 353
= e —— x5
= | | | -H. I | i S v ] (1] g 3
g o | 33 PRODUCT REVISED
FTE—= (Typ. Ea. END) i _‘g;
| Y l ] R4 l | = | ““‘:” I | 3 Buimm the
. Il I Al I I | g::,.m"*’”" A
SNNSNNN r SUNNNAN SRR NNRNY SN \\\T\ SSSNSTANRN NSO\
{18 b |w-18 Vo SLAT SPAN iz V56,7 W-2/8 Bil|v/5.67 Py (]
(SE SCHEDULE) =1 — = '
Mox, SLAT SPAN Max, STORM BAR' SPACING
(SEE SCHEDULE) (SEE SGHEDULE) 1 ,,n;n”f,,’ 1 f T
TYPICAL CONSECUTIVE SINGLE UNIT ELEVATION (NO STORM BARS REQUIRED) TYPICAL CONSECUTIKE‘ WALE LEVATION (STORM BARS REQUIRED) ) ) )
 NOTE: SEE SHEET 2 & 3 OF 13 FOR COMPONENTS NOMENCLATURE. NOTE: SEE SHEET 2 &‘9 Q 5@#‘6&@7&&91 ﬂcwuns FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
S ©2012 TILTECO, INC. RLL ___3 SLAT ROLL ___UP SHUTTER DRAllﬁN BY:
L.G./AE.

g* No. 44167

/ |IL|EC O inc. \ ROLLAC SHUTTERS OF TEXAS, INC.| /%

5331 ORANGE STREET
T!LLIT TESTING & ENGINEERING COMPANY

"’”uﬂuﬂ‘ f’

* PEARLAND, TX. 77581
K 355 N.W. 36th, St, Ste. J05, VIRGIMA GARDENS, Fl. 33168 ' —
e (:b‘\\ Phong : (.mjanf- 530 . Fex ! {305)871-1531 PHONE: {B00) 880-0922, FAX: (281) 485-0839 12 0‘37
e—maga_fjggggg?g l.com REV, Mo DESCRIPTION DATE REV. Mo DESCRIPTION DATE ORAWING o
WALTER A, TILLIT Jr. P.E y |otD 09—124 l02/17/12) 3
" FLORIDA Lic. # 44167 2 Py SHEET 1A OF 13
M 7T L v




§ R 328 . _1/8%25/32" SLOTTED VENTS
: s 203 @ 1 3/4" 0.C. ALLOWED. I 2.000" | ' 2.000" |
bt ] t 2.000" | .
T '3 :.‘9, —1,000"
; . R e R B i
S .%55?936“-—'-“ N ‘J—,g ;
= 5 R2000" 070"~ S
I | . Y ) v & AL
' " 50"~ - S ] o
.125"~J é l f°: 78 § " gt 8 ¥ =
390"+ S R ' (yp.)
. (11?5)—- ~— 1
v,
TYPE 1 SLAT: R
RLL~3 SLAT S RLL=16
EXTRUDED ALUMINUM
6063~T5 ALUMINUM ALLOY TYPE 3 STORM BAR: @ TYPE 4 STORM BAR.
SCALE: 1/2" = 1 @ TYPE 1 STORM BAR: @ TYPE 2 STORM BAR: 3" EXTRUDED STORM BARS RLL—?56;6§_.':LT; ﬁ_f@ﬁﬁ iDL L??RM BAR
NOTE: 4" HEAVY EXTRUDED STORM BAR 4” EXTRUDED STORM BARS 6063~T6 ALUMINUM ALLOY SCALE: 172" = 1
TYPE 1 SIAT SHALL BE INSTALLED 6063—T6 ALUMINUM ALLOY BOB3—TE ALUMINUM ALLOY SCALE: 1/2% = 1* 2 1/
W/SIDE LOCKS AT EVERY OTHER SLAT. SCALE: 1/2" = 1" . SOALE: 172" = 1
| 4.000 ' [ 000 ————| 3.000" ¥
. .8 i 4.000" i
250" 125"
§ vV 1T 3 (v )| I r 2.500"
S 125" |1 P Ty i
S {Typ.) ? —.977"— § ?
— — i- [T T & % 125"
3 IT_ féfr 3 § )| [~
! Pooqposs” o ; v ou
) TYPE 1HEADER. (J) TYPE 2 HEADER: (K) TYPE 3 HEADER: | et :
AR 6063~T6 ALUMINUM ALLOY BO63-T5 ALUMINUM ALLOY !
SeALEr 128 = SCALE: 1727 = 1” SCALE: 1/2" = 1 ® TYPE 1 SIDE RAIL
RLL—32 SIDE RAIL
' 4.000" ' : 6063~T5 ALUMINUM ALLOY
- | 300" - s 172 ) BUILD-OUT TUBES
3'%4" EXTRUDED TUBE
— . 6063—T5 ALUMINUM ALLOY
SCALE: 1/2" i
1 2.000" ] ,
% .?25"_‘_ -
55" 8 (vp.) ‘ 1257
§ )| [ ¥ g ()| PROVUCT REVISED
< "
"_'”I”’l”
l o,
1 ‘ V ...'ll.... -‘;
= S CorNSE P
. \) Lo -
@ TYPE 3 MULLION. s = K 3 FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
(M) TYPE 2 MULLION: 3" EXTRUDED MULLION v 3 07012 TL1ECO, MG oA o
» 6063-T6 ALUMINUM ALLOY 3 F RLL—3 SLAT ROLL—-UP SHUTTER :
4" EXTRUDED MULLION sonter 1y ! 3 1.6, /AG.
1 6063-T5 ALUA//HNUM ALLOY ) & N ﬁ ROLLAC SHU -
SCALE: 1/2" = " - '
(L) TYPE 1 MULLION: % Qo SLOR® \@‘. ILIECO . ITTERS OF TEXAS, INC.| *4i
i =, SION A\_% .,i TILLIT TESTING & ENGINEERING COMPANY PEARLAND, TX, 77581
6" EXTRUDED MULLION "'a,,,”,,,”f B0 Bens  aoayB 11300 ot ¢ (ORI =13 PHONE: (800) 880-0923, FAX: (281) 485-0839 12-037
6063-T5 ALUMJ'{’VUM ”ALLOY e--rm.'r:'E.fB :rggggg'?gf ,.com P Rr— TR T prmre— — DRAWING No
SCALE: 1/2"7 = 1 WALTER A TILLIT Jr. P.E. 1 |OLD 09—124 J02/17/12] 3
FLORIDA Lic. # 44167 2 - SHEET 2 OF 13




" I L]
.084 - X
153 —-I -1— &
{ |
.ﬁ- [
[s)) —
< [ 2
v . l": E
047" 2o d
P, o
T |
5oL ~-| }-t;.rog"
& T S12"

RLL-5

EXTRUDED ALUMINUM
606375 ALUMINUM ALLOY

DETAIL

i

RV 45& RV 45/S
HOUSINGS

45 GHAMFER
AS APPLICABLE

(SEE DETAILS)

TERE P

Y
e
)
B

T (N &y
o

= ONAL o 1"‘!i

",
.rl,,”’,”’”ﬂ

(V) BOX COMPONENTS AND ASSEMBLY DETAIL

(SEE NOTE 12 ON SHEET 1)

STUB DETAM, >

(N. T. 5)

/

SIOE CAP HEIGHT
(SEE SCHEDURE)

X) SIDE CAPS:
BK 90, BK 45 & BK 45/S

COMPONENTS FOR GEAR OPERATED SYSTEM

UNIVERSAL & CRANK
CRANK HOLDER{OPTIONAL)
GEAR INSERT(GEAR TO AXLE CONNECTOR)
IDLER INSERT

BALL BEARING

OCTAGONAL AXLE *

SIDE/END CAP *

HOUSING(FRONT & BOTTOM), 0.040" THICK
SIDE RAIL
PLUG-BUTTOMS
ALUMINUM SLATS

BASE SLAT

PLASTIC STOPS{OPTIONAL)
SIDE LOCKS{OPTIONAL)
STAPLES(OPTIONAL)
SPRINGLOCK HANGER

45" CHAMFER
AS APPLICABLE

SAFETY PLATES

SIDE CAP HEIGHT SCHEDULE
TYPE a0 45"
7 4.0" N/A
2 5.0" N/A
3 55" NAA
4 6.0" 6.0"
5 6.5" 8.5"
] 7.0" 7.0"
7 8.0" 8.0"
8 9.0" 2.0"
g 10.0" ro.0”
10 N/A 12.0"
N/A = NOT APPLICABLE
* SHALL BE CAPABLE TO SUSTAIN SLAT'S WEIGHT AND
ASSURE LIFTING MECHANISM (SEE NOTE 12/1).

ADDHTIONAL COMPONENTS FOR
MOTORIZED OPERATED SYSTEM
— TUBULAR MOTOR

— MOTOR BRACKET
— SWITCH
FASTENERS

€3 — 3/16" ALUMINUM POP RIVETS(6 REQD EA.
SIDE CAP) : 2 @ TOP, 2 @ REAR, 2@ BOTTOM

Expi
By
" Miami Product Control

PQODH;J'CT QEVISED

A9 0 i
Buildingm with the Florida
Acceptance No Z 145

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

@2012 TILTECO, INC.

/TLIECO me \

TILLIT TESTING & ENGINEERING COMPANY
6355 NI, J6th, Si, Ste. 303, VIRGINA GARDENS, Pl 33166
Phane : (3053871—1530 . Fox : (308)871—1531

e—rmail;_tilleco@aol.com

EB-000671
WALTER A, TILLIT Jr. P.E !

RLL—3 SLAT ROLL—UP SHUTTER| (avue
ROLLAC SHUTTERS OF TEXAS, INC.| /v
5331 ORANGE STREET
, TX. 77
PHONE: (800) a;?féggg ?:«sx.- (5;;:) 4850839 12-037
REV. Mo DESCRIPTION DATE _l REV, No DESCRIPTION DATE DRAWING No
OLD 09—124 02/1'7/12t 3 SHEET 3 OF 13

FLORIDA Lic. # 44167 2




POURED CONCRETE OR
POURED CONCRETE OR 2" x 2" x 125" Cont, IAPCON ANCHORS co,vcéeﬁgrs BLOCK
'SEE SCHEDULE QUIRED
CONCRETE BLOCK 7 ALUMINUM ANGLE
REQUIRED
TAPCON ANCHORS

ON SHEET 13 OF_13)
(SEE SCHEDULE

S E D. /@ @ o;e@
1748 x 3/4" TEK (SEE SHEET 13 OF 13)
ON SHEET 13 OF 13) E D. _74 - SCREW © 6" 0. C. / / i //
(SEE SHEET 13 OF 13)

TAPGON ANGHORS

(SEE SCHEDULE X2 R
// / iiii;éziz: : ON SHEET 13 OF 13)
- 1

N

=550 £Q £Q 1/4 x 3/4" Texk_—|
£ En. I 4{_ |.§ / g /@ e eec .
| E ' L 1/4°0 x 3/4" TeK_] ';ﬁmﬁ
2;[;; /iﬁ: [ 2. SCREW © 67 0. C \ A i
IR @ L] (&
REQUIRED 4& /é 250" @ i EO.' _Eld. | =< 2 A *ﬁ) 9
SECTION P -P (1): WALL MOUNT i - 2;0" * =3 W-1 D:l)
SOME: FuLt SECTION P - P (2) : SIDE WALL MOUNT T s >
SCALE: 1/2" = 1"

SECTION Q - Q. MULLION MOUNT
SCALE: 1/2" = 1"
SECTIONP-P (3): BUILD-OUT
ngggi;?n'-_‘ "x 2" x 1/8" Cont. Alum. ANGLE

Al /155 Thevon ANCHORS B3 0. ¢, FOURED CO%%’TEEE Cont, 162} 2%2, 23" OR SOAE: 172" = 1
1" x 2" x 1/8" Conl. Afum.

2"%4"%1,/8" ALUMINUM TUBE, : @ @ o
ANGLE W/ 1./4" TAPCON / g/ 1;/40"67“’”0” ANCHORS 1" x 2" x 1/8" Gont. Alum. ANGLE
/ Y ANCHORS © 12° 0. C.

/ 174 1/4 7 x 3/4” TEK SCREW ® 12° 0. C.
o HH e

R
s POURED CONCRETE
- T OR CONCRETE BLOCK,
e ag REQUIRED

L q  - || ‘\/

1/4"8 x 3/4" TEK
— I

Screw @ €” 0, c._\._

ok
T

W-1 B])
,pl!l’lll,,’

SECTION R - R MULLION MOUNT
e\\‘$$v \}QENSF 0 ‘491'1.5 SCALE: 1/2" = 1"

TAPCON ANCHORS
{SEE SCHEDULE ON
SHEET 13 OF 13)

TAPCON ANCHORS
(SEE SCHEDULE ON
SHEET 13 OF 13)

TAPCON ANCHORS |
(SEE ScHEDULE on — Iy
SHEET 13 OF 13) i

POURED CONCRETE
OR CONCRETE BLOGK
REQUIRED

2" x 2" x 125"
Cont. Alum. ANGLE

- EX.'S‘HNG
ha I| l LASS

e:"’:aw
: C’§
X
e
% =n
4:55;;;"

Rl
I 5 EPar o
O I 7y, STONAL S, 0"
POURED SRR “ecrorsrrtt!
CONCRETE OR SRR
Gock o 1% 2 OR 1" x 3" OR 2" x 3" OR
REQUIRED o - i OR 2% 4" x 062" Cont. ALUMINUM ANGLE
£Q- TAPCON ANGHORS FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
/ / 02012 TLTECO, INC. RiLL—3 SLAT ROLL—-UP SHUTTER fﬁﬂﬁ’,g“
/l a SECTION X-X(3)
062" . POURED GONCRETE
Gont. Alum. ANGLE

REGUIRED N TS / I||_|E C O ine. \ ROLLAC SHUTTERS OF TEXAS, INC.| °¥/1/1
TAPCON ANCHORS
@ 127 0. C

DATE
C TILLIT TESTING & ENGINEERING COMPANY 5331 ORANGE STREET
PEARLAND, TX. 77581
- 6355 N.W. J6th, 51, Ste. JOS5, VIRGINIA GARDENS, F1. J3I166 ! —
SE TI ON X X (2) Phone : (sosjar’ 1530 . Fax ¢ (305)87(~ rs.n PHONE: (800) 880-0822, FAX: (281) 485-0839 12--037
SECTION X -X { 1) NT S . a—mail: _frgeco@;rof .com T T T o e = DRAWING No
- WALTER A TILLIT Jr, P.E. ! OLD 09-124 l02/17/12) 3
NTS FLORIDA Lic, # 44187 z v SHEET 4 OF 13




1%2"%1/8" Cont. Alum. ANGLE W/

SCALE : 1/2" = 1"

"t g pah 1/2% x1 3/4" TAPCON ANCHORS Wy L 1 1/2°%1 1/2%1/8"%0"-3" ALUM,
FOURED CONCRETE WITH ; x42 ﬂ/f chnt Alum. ANGLE W/ @( 12" 0, / FOR INSTALLATION 750" 750" ANGLE W/ (1) 3/8°¢ KWK BOLT TZ
gj\é Efgfggﬁg@g} R,\iuiuth /- IZ"XO C/ TAPCON ANCHORS I— INTO HEADERS USE 1/2%1 1/2%1/8" W/ 2" Min, EMBEDMENT AT EACH SIDE,

/ AN (2) 1/4'8x3/4" TEK , STo0RM BAR DEPTH @ \
/ / 4 AN SCREW/EACH /SfDE Alurp. ANGLE EA. SIDE f OR
——— N 3/4"  3/4" 1
“ Vg S i | [ _—FOR INSTALLATION INTO CONCRETE, — §
“ I POURED CONCRETE WITH 4" / N I HQ [E{ng(?S‘)IDE/;O?? Tf\ff OIIAANC};?AT I ®) 'QE\

| - ol Lo |
“ {"—‘“6*9 — | MiN. THIGKNESS REQUIRED / ™y \ | T STORM BAR SPAN & A.5.D. DESIGN
H & - ~w | (F'C=3000 P.5.I. MIN.) N/ | | LOADS

/ N - |
R - T / AN : \ / ' 8
H s I ! ~ \ [ k N\ // | |I %'
! g ) | } TS /A p e )
I T =7 ] 7 N /
/ I & =
! i ! | ( Lo r ~_(2) 1/4'0x3/4"
I i Ve W EeTeeT TS === == = TEK SCREWS \_ 2) 1/4"8x3/4"
il ! i —— g \_ EACH SIDE EDGE OF Ei SCREWS
H | i // I - - OPTIONAL WALL EACH SIDE
! I A |
I zooo” | | B e AN SECTION S — S (FOR FIXED STORM BAR)
I aav) 1 = T T r » SECTIO —
| OPTIONAL | | SCALE 1/2 = SCALE : 1/4» i Iﬂ

It ! I I [ o o FOR INSTALLATION _
I Il | soo0r | : @ o @ INTO HEADERS USE
Il [ (MIN.) ! | (2) 1/4°0x3/4" TEKT 1/2"%1 1/2"%1/8"
I [ - ! e T SCREW EACH SIDE. x STORM BAR DEFTH . .

Ly I{ i [ @ OR ® £ ¥ b /1" .1.3/4 | A ANGLE EA_SIDE _ FOR INSTALLATIONS INTO GONCRETE, T

& A | It | 2:' | i i [ USE (2) 1/4"8x7/8" CALK—IN ANCHOR *, A . TMACHINE SCREW

- exsTNG < | [ i 52 | s3l {14! : . F EACH SIDE AT CENTER OF ANGLE FOR - o4 FULLY EMBEDDED

z f | | I oR g ANY SLAT SPAN, STORM GAR SPAN & - . ==, INTO ANCHOR

B f | 1 | ! f =

32 :i | | I : Ti|ts s T b AS.D. DESIGN LOADS D 1

X — : - : 1™ AnCHOR

B A T Wt o — TR

= . | 1

% i | i | | o= (H) ! | | . /

EE I i t I ! ! : (o=

o & i I i b I | ! N AN

g% it : : : ! SEPARATION rolcmss { t | @ T \\ SCALE & 172" '

=3 H I ¥ i SEE SCHEDULE ON —IL [ @ oR @__\ (2) 1/470-20 S.5. M.S.

By  sepamaTion To cmss’ a f sHeer 10 0F 13 i gy Il W/ 7/870x3/32" WING NUT ¥ 1/4°0-20 MACHINE SCREWS USED JOINTLY W/ 1/4"#x7/8"

£3 ATl 70 S 11| [ @ I, ditl CALK~IN ANCHORS RESPECTIVELY SMALL BE LEFT TOGETHER

&8 e 1o oF 13 ! ! H B : W/ ANCHORS AT THE TIME STORM BARS ARE REMOVED.

8 ! | 1L L\i {BEYOND) (SEE DET. A).

§H I I I[ if: ‘ i S C T S - S

t-)‘l) 1] i f 1 1 o

< 2,000

%

|
i
o 5 S GLC
i 1 \/\ Iy 1 OR
" : } f ; 1.000” _1.000" 1.00g" 1,000"
|
| |
“ ! | I POURED CONCRETE W/
il I I 9 i 4" MIN. THICKNESS
I t f A B 3 REQUIRED OR GROUT
i ; | FILLED CONCRETE
1] ] I BLOCK WALL REQUIRED.
1] : | v -
H ! EDGE OF WALL
L —=)e® C N
i Lo 24" (MAX Jx1/4'%0'=4 1/ o 2) 1/4"8x3/4"
IL__2000"__|i [} Alum, ANGLE 'EACH SIDE, . o Sorews
() : : 51 f_[ EACH SIDE
1| I 1 @ Y «ir L
Il | ; POURED CONCRETE WITH 4| =20
I ; ! . is MiN. THICKNESS REQUIRED [ i 80TTOM SLAT 1998
I T (F'6=3000 P.S.1. MV ! ﬂ’i\ .,:’Z" PRODUCT REVISED
o Lty ' a‘, I - =
[ _. i N us complying with the Florida
H }—- @ 2}:4(‘(;@::./)::;/4'&0'—4 1/2° ALUM. ANGLE } "' ?,“{ n s @05’@ an&i
o BOTTOM SLAT W/ (2) 5/16° TAPCON XL ANCHORS T0 | . = .
'-u& ; GROUT FILLED CGNCJ;HE Ewg( OR I \\‘ $ \)0 Sé‘ ., '9 = Acceyta “*W 13
POURED CONCRETE WALL AT EACH SIDE | N ", k-
' FOR ALL SPAN & AS.D. DESIGN LOAD i N . 2 SECTION 81 - 81
1 CONDITION, OR i N % 3
USE f;gg J/E;% .‘ﬂé’ff; ra%rHrz f.;NCHgRS w0 ! s HE SCALE ! N. T. S
POURED CONCRET CH SIDE FOR AL X : 5
;ﬁfﬂ;ﬁ{g&ﬁféﬁ%@?ﬂﬁo FOR 174 TAPCON ANCHORS _ | 3.000" Min, SPAN & ASD. LOAD CONDITION. g LEQ....EQ. ‘i : - $
(F'C=3000 P.5.1 MIN.) OR 1749 CALK—IN ANGHORS USE (2} 1/4°0x3/s" TEK SCREW % S8
TO STORM BARS AT EACH SIDE, % 0 FLO \ﬂ)"‘ &
POURED CONCRETE WITH 4" =, *“z H Q;“QB FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
MIN. THICKNESS REQUIRED OR = ‘89 IGNAL E\\\“ ! R .
GROUT FILLED CONCRETE BLOCK . -, ") ©2012 TILTECO, INC. DRAWN B
s WAL T, RLL—3 SLAT ROLL—UP SHUTTER| o
0 : SEC V=2 0 WALL MOUNTING: SECTION V—V(1) INSTAL ;'g'ﬁ'ébt
* —
, 1
; BLE ST W/ FIXED STORM BARS W/CONCRETE ANCHORS / IiLlECO e \ ROLLAC SHUTTERS OF TEXAS, INC.| 7/
- 5331 ORANGE STREET
(SEE SECTION "S® FOR ANCHOR TYPE REQUJRWEM) SCALE @ N.T.S. TILLIT TESTING & ENGINEERING COMPANY PEARLAND, TX. 77581
MNT.S. 8355 NW. Jibth, St, Sle. JOS5, WRGW:H GARDENS, Fi, 33168 . ¥ ’ . _ ‘] 2_037
FPhons @ (305)871=1530 . Fox : (308)871~1531 PHONE: (B00) 880-0922, FAX: (281) 485-083%
poop s sooes,,  SECHON V = V ol Useegrpioon o e o e o
WALTER A, TILLIT Jr. P.E 1 |OLD 09--124 102717/12] 8
STORM BAR & HEADERS. LOMOA Lier 4 44167 . - SHEET 5 OF 13




FOR INSTALLATION

1%2"%1,/8" Cont. Alum. ANGLE W/ INTO HEADERS USE 1 1 /9% 1/2'%1/8"

" I"%2%1/8" Cont. Alum. ANGLE W/ g‘;g.,"o’ CJ/ 4" TAPCON ANCHORS (3) 1/4°8x3/4" TEK STORM BAR DEPTH oR ) L
POUREDIC?(%:S‘;ETE uggfo {o(‘*r;,_xo?céf/'# TAPCON ANGHORS - & SCREW EACH SIDE.  pjum. ANGLE EA. SIDE  FoR INSTALLATIONS INTO CONCRETE, 1 1/2%1 1/2%1/8%0°-3" ALUM.
Wt st s - sinnininininink N 2 " /USE (2) 1/ TAPGON ANGHOR, e 5 e e M B I
e : St EACH SIDE AT CENTER OF ANGLE FOR a0 740" : '
/ % 1/2" ANY SLAT & STORM BAR SPAN & O N\ i
N b N A.5.D. DESIGN PRESSURE RATING - .
I ~ i N a— UNDER &0psf, /2 1/2
|_“_| f o =
8 | - Y | P FOR AS.D. DESIGN PRESSURE RATING !
i G560 _ ™y 1 I A N GREATER THAN 80psf AND ANY SLAT
h 545 T ./ j } Py : & STORM BAR SPAN, USE (1) 3/8% X
1 ™ POURED CONGRETE WITH 4 / | 1o NS KWK BOLT TZ ANCHOR, EACH SIDE AT 3
| i \ ! MiN. THICKNESS REQUIRED Mrn [ . ; i { CENTER OF ANGLE
i S \ | (F'C=3000 P.S5.). MIN.) / . s 4 ' ~—{3} 1/4"x3/ 4" TEK /
n L ) | | ~— i L@ oR @ SCREWS AT EACH SIDE. 4
| - | . 4
i [ | / | = 4& l \ ]
| I W -~ SECTION S — S (FOR FIXED STORM BAR) EDGE OF
i i | 2 4 [ L \_ e 0 0 A L_(3) 1/4"0x3/4" TEK
I | I ——— s OPTIONAL SCALE : N.T.S. SCREWS AT EACH SIDE.
I | | 4 o0
I | ] ,(-" f o =
| __2.000" |l | {2 S ——— 4. N ‘”% FOR INSTALLATION .
™ )=} | ¢ 3 r INTO HEADERS USE 1 1/2%1 1/2%1/8% SCALE : N.T.S.
H : I OPTIONAL ! 600 @ oR @ (3) 1/4"8x3/4" TEK STORM BAR DEPTH
i | 1|1 2.000" , SCREW EACH SIDE.  Alum. ANGLE EA SIDE  pe ers amone INTO CONCRETE,
i } | & ) | . 3/ 3 / /T USE (1) 1/8°0x7/8" CALK~IN ANCHOR *,
Il | } | ' I S, EACH SIDE AT CENTER OF ANGLE FOR ANY
" i | | @ or @ I~} i 120 \ / SLAT SPAN, 9'~5" Max. STORM BAR SPAN e
& I i i , g 1\L\i~ N & AS.D. DESIGN PRESSURE RATING UNDER . T MACHINE SCREW
> dass N | } s2 | szyifd |\© X P & B0psr. oo BRI TTMACHINE SCREW
g I ' i ‘ ! ! ' or @ ! = FOR A.S.0. DESIGN PRESSURE RATING <. - \."*JNTO ANCHOR
g".z I ' I EXSTING l | 0 GREATER THAN 80psf AND ANY SLAT SPAN e
i it —lf GLASS | I i 4 & STORM BAR SPAN, USE (1) 1/2"ax1 & o, o - [T ANcHOR
<2 I | | } ! | 12" N N ~ 1/2" CALK~IN ANCHOR ¥, EACH SIDE AT - a
o= i | I OR @ i ! | . CENTER OF ANGLE
& ! | I \ "
;% I } ! | I @ (2) 3/8" 5.5. THRU BOLTS W/ NUT SCALE : 1/2 = 1"
& [ { I SEPARATION TO GLASS , I oR @
%g ” ! : ; 555,5529”,%"%5 o g I ¥ 1,/4"8-20 OR 1/2°8—13 MAGHINE
oY I separanion To cuass il \ SCREWS USED JOINTLY W/ 1/4" x 7/8"
RS Il—"se€_screouLe on 44 i SECTION S — S (FOR REMOVABLE STORM BAR) OR 1/2% x 1 1/2" CALK—IN ANCHORS
1 sHeer 10 oF 13 1|k SCALE : M.T.S RESPECTIVELY SHALL BE LEFT TOGETHER
59 I : I f (BEYOND) s W/ ANCHORS AT THE TIME STORM BARS
Bt i i i ' - ARE REMOVED. (SEE DET, A).
G L : ,\ = 2.000" |
3 \/\ (BEYOND) (hin) : k@ 0R® 1.000", 1.000" 1.000", 1.000"
E T NIT T Y
3 i [ il I { POURED CONGRETE W/
M | IF B 11 ! * 1 | 4" MIN. THICKNESS
il | i} g | 52 i 52 REQUIRED OR GROUT
1l | i { | / ‘ FILLED CONCRETE
i } {4 | @ i O BLOCK WALL REQUIRED.
I ) I
[ ' TRl ' = - EDGE OF WALL
1 | i1 I | n
] Ilw.._____i I~ coco 2%5%1/4°%0" 6" == \®Oﬁ®
t | | ALUM. ANGLE [
1 ! 1) AT EACH SIDE WE fvive it
| i | I | OR — B! NS (4) 1/4"80x3/4"
I 2(.000)" ! | ! SJ " i TEK SCREWS
MIN, D. st CH SIDE
| ! g ; | Mm @ foxhe itz £4
: 1! ! ! R ;ﬁ’ﬁfgfciﬁtg’s?%%oﬁﬁ; - 99180110000, ’
B0TTOM SLAT 'l . .
f s It s s s (Fe=3000 P51 MiN.) A —a Y ‘\"—?‘ A. T[[ (/;o,‘ SECTION S1 - S1 iflom%'il;:l‘.\ns:‘bp
il Q& ‘ v. .....-...' -‘». m.ﬂ wh h“
& 4 = : Building Code
H WS 600 @ 2%5"(Wax JeT/4°%0"-6" ALUM, ANGLE | \‘ \}B NS& “”9 Y SOALE : N T. 5 Apumn‘ No 4-
BOTIOM SLAT W/ (2) 5/168° TAPCON XL ANCHORS T0 %, | \\ R
| CROUT FILLED CONCRETE BLOCK OR I N 3
POURED. CONCRETE WALL AT EACH SIDE FOR I N ; T
AS.D. DESIGN PRESSURE RATING UP T0 130 | ¥ gt : 3 By
psf, 50" Mox. STORM BAR SPAN, OF N e ] 3 - 9, i * 3 Misni vy
USE (2) 3/8" KWIK BOLT TZ ANCHORS 70 ! % o oTh P8
ONCRETE WITH 4 POURED CONCRETE AT EACH SIDE FOR ALL ] "J i p OF s @
;%Rgﬂmfmess FeaReo—  FOR 1/4°8 TAPCON ANCHORS— 3.000" Min: SPAN & AS.D. LOAD CONDITION, o 10, AZO R
(F'C=3000 P.S.). MIN.) OR 1/4% CALK—IN ANCHORS ggfsg.)'e J%ﬁ; Mrgg gfﬂfzgw / £y <<~. ’ﬁ \0 & ‘.u . ) ‘
FOR 1/2"6 CALK—IN ANCHORS ———j=ment” MIf; ' A// =0 & /QN:M {,’&(") iﬁ FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
¢ POURED CONCRETE WTH 4" MIN. ;!
3/8' KWKk BOLT 17 J 5/8" THICKNESS REQUIRED OR LA ”H ©2012 TILTECO, INC. _ DRAWN 8Y:
GROUT FILLED GONCRETE BLOGK e RLL-3 SLAT ROLL-UP SHUTTER L.G./AG.
G 00 : SECTION V- LLATIO, = ]
0 OUNTING: 0 ILIEC O 1xc ROLLAC SHUTTERS OF TEXAS, INC.| 1/
W/ FIXED STORM BARS W/CONCRETE ANCHORS T TESTING E ENGNEERTG SoEa 5331 ORANGE STREET
T GIN,
SECTION "S” FOR ANCHOR TYPE REQUIREMENT, SCALE : N.T.S. PEARLAND, TX. 77581 —
( SEE s NS, a ? R A B L e PHONE: (500) 880-0922, FAX: (381) 485-0839 12%2?\’ 7
SINGLE SPAN SEGTIONS AND DETAILS SECTION V - V e-mall, titeco@aal.com RV, o | oascarion aare_|_#iv. ho GescRPTON wr | O °
ARE SIMILAR TO ABOVE SHOWN WITHOUT = liy WALTER A, TLLIT dr. P.E. 1__lotp o9_124 |02/17/712] 3 SEEr & oF 19
STORM BAR & HEADERS, FLORIDA Lic, # 44167 2 4




2°%3(Max. e 1,/8" CONT, ALUM.
TUBE W/ 1/4% x 1 3/4°
TAPCON ANCHORS @ 12" 0.C.
FULL LENGTH TO POURED

W/ 1/4"8 x 3/4" TEK SCREW

1'%2"%1/8" Cont. Alum. ANGLE
\@ 12" 0.6. TO TUBE

0.
CONGRETE FULL LENGTH TO POURED 7(
— i
4 4 -~ ~ / ¢ &
‘ o o / 3 — :) I o
o © v O \ / o o
3.000" A 2,000
i N I e 17 / TN A I
REQUIRED l & \ o REQUIRED |
7, ] — L /| |
- | o L— - l |
W] o0 |
2.000" Min, | 2.000" |
| Min, !
| Qi [ ' EXISTING | =
T ee-0 S
| 53 |\[ 53 oR l 53
l AN | J ’ I !
EXISTING GLASS —= | | | | ! ]
SEPARATION TO GLASS

SEE SCHEDULE ON
SHEET 10 OF 13

 —

Bl | ©

LA i -
|L@OR®
|

|
|
M. 1T—®
i |*\®
|
({9

l
2.000" Min. |}
l

BUILD-—-OUT TUBE
(BEYOND)

j

27" (MAX )x1/4" CONT.
ALUMINUM ANGLE

W/ CONCENTRATION OF
ANCHORS SPECIFIED
ON SCHEDULE.

POURED CONGRETE WITH 4" MIN.-/
THICKNESS REQUIRED OR
GROUT FILLED CONCRETE BLOCK

2"x4'(Min.)x1/8" Conf. Alum

TUBE W/ 1/4°% x 1-3/4"
TAPCON ANCHORS @ 12*

1" x 2" x 125" Cont. Alum. ANGLE W/
S T/4% x 3/4" TER SCREW @ 12" 0. C. 1O TUBE

1 1/2%1 1/2%1,/8%
STORM BAR DEPTH
Aflum. ANGLE EA. SIDE

750" 7a0"
|———-—
[ ’gﬁﬂ N [H L4
E'r" T i)
[ D—HH )
EQ 1/2" O E—: ’-'] O
—® %

SEPARATION TO

GLASS
SEE SCHEDULE ON
SHEET 10 OF 13

BUILD-0UT TUBE

(BEYOND}

2.000" Min.

THICKNESS REQUIRED GR
GROUT FILLED CONCRETE BLOCK

POURED CONCRETE WITH 4" MIN.—/

ol

2°%6"(MAX.)x1,/4" CONT.
ALUMINUM TUBE W/
CONCENTRATION OF AN

””lllll;,

SPECIFIED ON SCHEQn

Yo

R A T,

GIGIOL

USE CONCENTRATION OF

(8} 5/16"8 TAPCON Xi. ANCHOR TO
GROUT FILLED CONCRETE BLOCK OR
POURED CONCRETE WALL @ 4" O.C,
AT STORM BARS LOCATION OR USE
CONCENTRATION OF (2) 3/8" KWIK |
BOLT TZ ANCHOR T0 POURED
CONCRETE WALL @ 4" O.C. AT |

STORM BARS LOCATION
! \ I

FOR INSTALLATIONS INTO TUBE &
HEADERS USE (2) 1/4'0 x 3/4"
TEK SCREW EA. SIDE FOR STORM
BARS (& & H) & (3) 1/4"8 x 3/4"
TEK SCREW EA. SIDE FOR STORM
BARS £} & )

L (2) 1/4" x 3/4" TEK SCREW EA.
SIDE FOR STORM BARS(Q) & (H) &
(3) 1/4" x 3/4” TEK émzw EA.

SIDE FOR STORM BARS

SECTION 83 - 83

SCALE : 1/2" = 1"

' —0 ® @@

1 1/2"1 1/2%1/8"xSTORM BAR DEPTH
Alurm, ANGLE

(SEE SECTION S3-S3 AS APPLICABLE)

27 Max.x1/4" Cont.
YALUM ANGLE (CASE 1)

BT

©

L=

L

12"

12"

.

4 4 4 e e

4" 12" 12.000"

ALUMINUM TUBE
(CASE # OMLY)

OR ®

2'%3" (Min.)x1/4" Cont. ALUMINUM ANGLE
W/ CONCENTRATION OF (4)1/4'¢ x 1 1/2"
TEK SCREW @ 1 1/2" O.C. AT STORM BAR
LOCATION, REST @ 12" 0.C.

L2

2'%6"%1/4" Cont.—/

1/4"8 TAPCON ANCHORS @ 12 0.6‘.\

(TYP. AT EACH SIDE, BEYOND GONCENTRATION)

ELEVATION/XN

SCALE : 1/8" = 1"

:aommmmm
complying witl the Florids
gy
Expirstion 7

By
M Product Control

X %
S ey
s‘ N 44167 - FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
Y § NO. % '
Y AC Py d ©2012 TLTECO, IMC. RLL—3 SLAT ROLL—UP SHUTTER| o &
CASE | CASE I N
DI E— , &S / liLlEco \ ROLLAC SHUTTERS OF TEXAS, INC.| °i/1
= StV L =W . 5331 ORANGE STREET
STORM BAR CONNECTION AT BUILD-OUT INSTALLATION : SECTIONS V- V (3) ”‘i‘fS/OnihL o Q&;,..‘ s RGN o gy SO T T 12-037
SCALE : 1/4" = 1" "IIJIIII"I” o-ma: _'"‘“"??3’“”' nw.’ e - ;zs;zzn?;“ 02/1;471; - ﬂ:v.sm OESCRIFTION DATE o
wﬁ%ﬁ?ﬂf LELL;- :ﬁ'!gﬁg P < SHEET 7 OF 13




POURED CONCRETE W/
4" MIN, THICKNESS
REQUIRED

Lo

MAXIMUM MULLION SFAN FOR THIS INSTALLATION TYPE

(SEE SCHEDULE ON SHEET 13 OF 13}

1 1/2%1 1/2%1/8% MULLION
DEFTH Alum, ANGLE (EACH SIDE)
W/ (2) 3/8" KWK BOLT 1Z

W/ 2" Min. EMBEDMENT TO SLAB
(Tvp, TOP & BOTTOM).

OlOL Oz

EXISTING GLASS e

-2 o

" x 2" x 1/8" Cont,
ALUMINUM ANGLE W1 /4%axt 374"
TAPCON ANCHORS @ 12" 0. C.

1" e
o o | POURED CONGRETE W/
[ ——— 8" MIN, THICKNESS
| - N REQUIRED

| | 4 AY
M ! N i

S I | N )
[

&

Min.

/4 OrR R/4

/4 OR

v
O @ear(W)—

o

{

|

Il
v
|[®
|
|
|

t %

@ GR@ (ONLY FOR  W-W(2)}

() 1/4Px3/4" TEK
SCREW EACH ANGLE.

I w3 u3/8% 0'-2" (6061-T6 ALLOY) Alum. ANGLE AT

SINGLE SPAN & 3'%3'%3/8"%0'—4" (6061~T6 ALLOY)

Alum. ANGLE AT MULTIPLE SPAN W/ (1} 1/2°6 THRU
BOLY AT SINGLE SPAN & (2) 1/2° THRU BOLTS AT

MULTIPLE SPAN. USE 7/8'9 0.D.x Yh2" THICK WASHER
W/ THRU BOLTS.

R/4

7
N

"5 2" x I(B" Cont.
ALUMINUM ANGLE W/ 1/4%8x1 3747
TAPCON ANCHORS @ 127 0. C.

/ ‘\@

|
OIOra0.

Iu3"%3/8"%0'-2" (BOB1~TE ALLOY) W/
(4) 1/4'sx1" TEK SCREW TO HEADER &
{1) 1/2' KWK BOLT 1Z W/ 3 1/4"
Min, EMBEDMENT TO WALL,

ALTERNATIVE :1

WALL MOUNTING : SECTION W-W (3)

NOTE: VALID FOR ALL SPANS AND A.5.D. LOAD COMBINATIONS.

| — (2) 38" TMRU BOLTS
(Tvp. TOP & BOTTOM}

NN

FLOOR/CEILING MOUNTING :

\

}\

—-it" 1

500" Min. Typ.

POURED CONCRETE W/
4° MiN., THICKNESS
REQUIRED

SCALE : 1/8" = 1"

D—

SECTION W-W (1), W/O HEADER

SECTION W-W (2), W/HEADER

SCALE : 18" = 1"

/2"~

—t,/2"

POURED CONCRETE W/
4" MIN, THICKNESS
REQUIRED

%

/r'"
|
| ST il
\/| / N il
|
|
|
|
i
1]

N / [ USE (2) 3/8"0 THRU BOLTS TO MULLION.
-~ :IL-— BEYOND ° °°°:

L]
_%E;::::::ﬂ § :

1

| | @ POURED CONCRETE © :

! =+ _-_‘- ]__’/2 W/ 4" MIN. THICKNESS 1

e Dor ®

USE 2°%7 % 1/4"x0"~5" Alum. ANGLES
FOR CASES W/ 3" BUILD-OUT TUBE,

ALTERNATIVE :2

|

|

|

|

(2) 2%4"%1/4"%0'~5" Alum. ANGLE W/ |
(4) 1/4"¢ THRU BOLT 7O HEADER & I
(%) 3/8"% KWIK BOLT TZ W/ 2" Min. 1
EMBEOMENT TO WALL, |
|

|

|

|

|

|

[

2"MULLION'S DEPTHx1/8" Cont.
ALUMINUM TUBE W/ 2"%2%1/8'%0'~2"
ALUMINUM ANGLE AT MULLION W/

(3) 1/4"8x3/4" TEK SCREW EA, LEG.
(TOR/BOTTOM)

22" 1/4"%0"—6" (B061—T8 ALLOY) Atum,
ANGLE EA. SIDE W/ (2) 8/16" TAPCON XT
W/ 1 1/2" Min, EMBEDMENT WALL, OR
USE (2} 3/8" KWIK BOLT TZ W/ 2° Min,
EMBEDIMENT TO POURED CONCRETE WALL
(4" MIN. THICK).

Z

REQUIRED, 2 § é

L

Min.

EXISTING GLASS ——" |

1"%2'%1/8° Cont, ALUMINUM
ANGLE W/ %"8x3/4" TEK
SCREW @ 12" o.C.

\ M
~ // \®

F—___'I;
L d

======]

NO HEADER & STORM BAR ALLOWED.
UST SPLIT ROLL UP MULLIONS &
TRACKS W/ FACE MOUNT.

~-®

WALL MOUNTING : SECTION W-W(3)

NOTE: VALID FOR ALL SPANS AND AS.D. LOAD COMBINATIONS.

SCALE : 1/8" = "

3" x J7 ALUMINUM ANGLE

3% x 3" ALUMINUM ANGLE -

D @=®

T -}

— T
|
=l

(2) 2"%4"%1/4'%0'~5" Alum. ANGLE WA
(4) 1/4"6 THRU BOLT TO HEADER &
(2) 3/8" KWik BOLT TZ W/ 2" Min.

EMBEDMENT TO WALL.

USE 2°%7'%1/4%0°-5" Alum. ANGLES
FOR CASES W/ 3" BUILD-OUT TUBE.

ELEVA TION/Q\

ELEVATION/X1

= A —

|
|
|
|
L

SCALE

1/8" =

T

Q
SRR .

Lo@-®

(EXTENDED PASSED OPENING)

TO@=@®

Q00
1"%1"%1,/8"<CONT. ALUM ANGLE
\\,\ W/ 1/4"8x1,/2" TEK SCREW
8 = @ 12" o.C
\. L
L1
'§ -.3/4J|
|
oald || 2%2%1/4%0'~6" (606176 ALLOY) Atum.
“ || ANGLE EA SIDE W/ (2) 5/158"% TAPCON XL
POURED CONCRETE [ N Tl w7t 172" Min, EMBEDMENT TO CONCRETE
w/; MIN. THICKNESS 5LOCK OR POURED CONCRETE WALL, OR
gfgc,’(ﬁf}gqg_’?ﬁgguf&gf USE (2) 3/8"8 KWIK BOLT TZ W/ 2" Min.
] - . EMBEDMENT TO POLRED CONCRETE WALL

(47 MiN, THICK)
USE (2) 3/8% THRU BOLTS TO MULLION

WALL MOUNTING : MULLION CONNECTION

AT TOP & BOTTOM : SECTION W-W (1)

SCALE : 1/8" = 1"

NOTE 1:

MULLION SPAN AND LOAD COMBINATIONS.

EXISTING WALL MAY CONCRETE BLOCK FOR AS.D. DESIGN PRESSURE RATING
UP 10 130.0 psf W/ 4'-0" Max. MULLION SPAN AND 4°—0" Max. MULLION
SPACING AND SHALL BE 4" MIN. THICK POURED CONCRETE FOR ALL GREATER

PRODUCT REVISED
as complying with the Florids
D-ildinsyd:.& the

Awmmmé.?.%. I‘;

FLORIDA BUILDING CODE

No
By
Miaimi Dade Prodict Commrod

(High Velocity Hurricane Zone)

il
I N @2012 TILTECO, INC. DRAWN 8Y:
L6 /A.C.
f\, SECTIONS Wl / I I \ ROLLAC SHUTTERS OF TEXAS, INC 02/17/12
£ L4 F
ELEVA TIONA(\ TILLIT TE.!T!:;; &Eﬂ\g}vgmls"c?);ww 3331 ORANGE STREET —
. b g PEARLAND, TX, 77581
SOALE : 1/5 ! acd ff*(-,g;;sfft,ggg: .wf'%i’“ff‘(%%fﬁsié@:”m PHONE: (800) 880-0922, FAX: (281) 485-0839 12-037
e—mail; j:]’tegog;zol. com REV, No DESCRIPTION DATE FEV, No DESCAIPTION oaTE DRAWING No
w;;i.gegfo;. ng.t.g‘ ﬁf,‘ , sPJ"E ; OLD 09124 02/17/12‘ : et & oF 13




7.000”

1/4"8 LAG SCREWS @ EA. STUD OR

@ 12" 0.0, IF Cont. WQOD HEADER
EXISTING AT THIS LOCATION,

1" x 2" x 1/8" Cont.
/ Alum. ANGL

WOO0D HEADER
REQUIRED =

SEE SHEET 10 OF 13
FOR Min. SEPARATION-—
10 GLASS

e

-

O\!|\@

7

EXISTING GLASS

6

L

\_.rh

2" x 4" WooD STUDS
REQUIRED @ CORNER

(TYPICAL)
N N

/4"

MAX

1/4”

PILAN A (SECTION)
WALL _MOUNT

SCALE : 3/8" = 1"

2" x 4" Wo0D STUDS REQUIRED
@ CORNER (TYPICAL)

1/4°8 [AG SCREWS @ 6" 0. C. W/

i 1/2" Min. THREADED PENETRATION
TO EXISTING WOOD STUD.

/ 1/4°8 x 3/4” TEK SCREW @ 6" 0. (.

—— SaE= E 2" x 2" x 125" Cont. ALUM. ANGLE
/ S & 8 —[ f .
. % L
/ N '.‘j_‘- EQIEQ ‘%'
L SR SE_5
BN e S L ’/4" \@
MAX

1/4" x 3/4"
TEK SCREW @ 6" 0. C.

MAX

1/4"8 LAG SCREWS @ 6" 0. C. W/

1 1/2" Min. THREADED PENETRATION
TO EXISTING WOOD STUD.

'

' /

e

2" x 4" STUDS

—

= pivd

E——
=

N

2" x 4" WOOD STUDS
REQUIRED @ CORNER
(TYPICAL)

174" LAG SCREWS @ 6" 0. C. W/

1 1,/2" Min. THREADED PENETRATION
TO EXISTING WoOD STUD.

®

2
PLAN ] R PROUUCT REVISED
B l'wmiyms with the Florida
BOTTOM SLAT "
INSIDE_MOUNT @_/ 1 g Cole
. »o_ » tarce +
1" x 2" x 062" Cont SCALE : 3/8" = 1 Expiration Daz ]
Alum. ANGLE PLAN € (SEC TZQAQ B :
y
1/4"0 LAG SCREWS t00ss,, BUILD-0UT Mi Prodoct Control
45 s INSTALLATIONS /NTLWLQQL%@ i e
g' cesirens, =
TR R TR
O ey &M NoTES: \s\ SN & W% FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
1. INSTALLATIONS ARE ONLY VALID FOR BUILDINGS WITH AS.D. DESIGN PRESSURE 3 : H 2 ©2012 TILTECO, ING. DRAWN BY:
RATING UP TO 80.0 psf AND FOR SHUTTERS W/0 STORM BARS, HEADERS AND MULLIONS. § ¢ No. 44167 : % § RLL—3 SILAT ROLL—-UP SHUTTER L.G./AG,
QUNTI ] 2. FOR NEW FRAME CONSTRUCTION: WOOD MEMBER TO BE SOUTHERN PINE No. 2 3 * N ——
SINGLE _SPAN CONDITION W/ SPEGIIC DENSTTY OF 0.5 O EQUAL LTSS e § ILIEC O ,uc. \|ROLLAC SHUTTERS OF TEXAS, INC.|
Y TR .
N T 5 kS .éﬁ’ “\‘ TILLIT TESTING & ENGINEERING COMPANY ﬁ;f,ﬁﬂ”f; S;;ifgff
= %\Q‘b ',n‘ B30 s+ C3053aP 1500 . P+ (308)87 s aai o8 PHONE: (800} 880-0922, FAX: (281) 485-0839 12-037
s, 4 at "' s—maggjagggggfgl “comt REV. No VESORIPTION DATE REV. o DESCRIPTION DATE DRAWING No
Carpsrit WALTER A TILLIT Jr. P.E. s loLp 09—-124 jo2/17/12] 3
FLORIDA Lic, ff 44167 2 7 SHEET 8 OF 13




SLAT PERFORMANCE CHART

MAXIMUM NEGATIVE A.5.D. DESIGN PRESSURE RATING (p. s. f) AND

CORRESPONDING MAXIMUM SLAT SPAN "L" FOR TYPE 1 SLAT

(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE A.S.D. LOAD)

TABLE 1: see wore seLow.

SLAT SPAN (ft.) MINIMUM SEPARATION TO GLASS

80" OR LESS 37

> 60" 10 72" 3 3/16”

NOTE:

£

MINIMUM SEPARATION TQ GLASS FOR SINGLE AND MULTIPLE UNITS
SHALL BE MEASURED FROM BACK OF SLAT TO GLASS.

¢ NOT APPLICABLE

MINIMUM SEPARATION TO GIASS FOR SHUTTERS INSTALLED WITHIN
THE FIRST 30 ELEVATION OF BUILDING MEASURED AT BOTTOM OF
SHUTTER AND MAXIMUM SPAN.

SEE TABLE 1 FOR MINIMUM SEFPARATION TO GLASS FOR SPANS
SHORTER THAN MAXIMUM ALLOWED,

MINIMUM SEPARATION TQ GLASS FOR SHUTTERS INSTALLED ABOVE
30° ELEVATION OF BUILDING MEASURED AT BOTTOM OF SHUTTER.

TYPE 1 SLAT
RLL—3
MAXIMUM

ASD N vaxamum | MiNiuM
DESIGN SLAT SEPARATION

PRESSURE| SPAN TO GLASS

?ﬁ:’g SGLE S!Ngf_t-.!

MULTIPLE}  MULTIPLE

UNIT UNIT

* L
40.0 14'-6" |3 3/16"] 3"
45.0 4'-5" |3 3/16"] 3"
50.0 4-3" |3 3/16" 3"
55.0 4'-2" |3 3/16"¢ 37
60.0 4'-0" 3" 13"
65.0 3—-11" 3" 13
70.0. 310" 3 {3
75.0 3'—g" 3 3
80.0 3'-8" 3" 13
85.0 37" 3"} 3
90.0 3'-6" 3" 13"
95.0 3'-5" 3" 13
100.0 3’5" 3" 33"
105.0 3—4" 3" 13
110.0 34" 3" 13
115.0 3'-3" 3" |3
120.0 3-2" 3" {3
125.0 3'-2" 3" 3"
130.0 3—1" 3" 13
135.0 31" 3" |3
140.0 3-1" 3° 3"
145.0 30" 3" 13
150.0 3'-0" 3" 13
155.0 211" 3" |3
160.0 2'-11" 3" 13
165.0. 211" 3" 3
170.0 2'=10" 3" 13"
175.0 2'-10" 3" |3

SIDE _RAIL _CONDITIONS FOR TYPE 1 SLAT

NOTE: TYPE 1 SLAT SHALL ONLY BE USED IN CONJUNTION WITH TYFE
1 SIDE RAILS.

DFML_».[D [m]
[= - = = =]
I:lr__L—.ll:l
e E : - =
E = 1
E : =]
SINGLE SPAN MULTIPLE SPAN

SPAN LAYOUT

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

©2012 TILTECO, INC.

TILLIT TESTING & ENGINEERING COMPANY
6355 N.W. J6lh, St, Ste. J05, VIRGINIA GARDENS, Fi. 33166
Phons : (305J871-1530 . Fox : (J05)871—1331

/ I"-lECO INC. \ ROLLAC SHUTTERS OF TEXAS, INC.

e-—maé% jﬂotggggfaf. com REV. ¥a DESCRIPRON DATE

REV. ko

DESCRIPTION

RLL—3 SLAT ROLL-UP SHUTTER| Teiia
02/17/12
DATE
5331 ORANGE STREET
PEARLAND, TX. 77581 19-037
FHONE: (800) 880-0922, FAX: (281) 485-0832
DRAWING No

WALTER A. TILLIT Jr. P.E. ! OLD 09—-124 102/17/12

3

FLORIDA Lic. # 44167 2

4

SHEET 10 OF 13




STORM BAR LOADING CHART MAXIMUM A.S.D. DESIGN PRESSURE RATING (p. s. f.) AND CORRESPONDING
MAXIMUM _SPAN "L” FOR A_GIVEN TYPE OF STORM BAR AND STORM BAR_SPACING.

(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE A.S.D. LOAD)

ijé%UM TYPE 1 S?'ORM BAI: TY.F:E 2 S:TORM BA.‘: TY!:E 3 .S;TORM BA-"i: @ TYPE 4 STORM BAR
DESIGN 27 % 4" x 1/4 2"x 4" x 1/8 2"x 3" x 1/8 - RLL—15 + RLL~16
Pgi;ijg?&_ *  STORM BAR. SPACING X  STORM BAR SPACING * STORM BAR SPACING ¥ STORM BAR SPACING
(p.s.f.) g 3-0" |3 04 [0S |06 |30 | 0oL L TO5 |5 T086 |gIF0" | I 04| TO5|5T08 |30 ITT0O4| 4 T05 |5 7108 >
0.0 100" 10-0" | 10'-0" 10'-0” 9'-0” 9'-0" 9'-0” | &-11" 8'-0" 8'~0" 8'-0" 7'~3" 5'-6" 5'-6" 5'-2" 4'-8"
35.0 10°-0" 10°-0" 1o°-0" 10°-¢" 90" 9-0" 9'-0" 8'-3" 8'-0" 8'-0" 7'-5" 69" 5'-6" 54" 4'-9” 4'-4"
40.0 10°-0" 100" 10'~g" g'~11” g'-0" g'-0" 8'—6" 7'-9" 8'-0" 7'-8" &'—11" &'—4" 5'-g" 5’0" 4'-5" 4=
45.0 10°-0" 10°-0" 10'-0" g'-8" g'-0" 811" 8'-0" 7-4" g8'-0" 7'=3" &'~6" 5—171" 5'-5" 4'-8" 42" 3'-10"
50.0 10°-o" ta-0" | g9'-10" g'-3" 9'-0" 8'-6" 77" &'-11" a'-0” g'~1" 5-2" 5'-8" 5'-2" 4'-5" 4'-0”" 3-8"
55.0 10°~0" 10'-0" g'-7" &'~10" g'-0" 8-1" 7'-3" 67" 7'=7" 6'-7" 5'—-11" 55" 4'-11" 4'-3" 3'-9” 38"
60.0 10°-0" g'=11" 9'-3" 8'-5" 8-11" 7'-g" &'-11" 6'-4" 7'-3" 6'-4" 5'-8" 5'-2" 4'-8" 4'~1" J'-.8" 3'-q"
65.0 ro'-p* g'-g" g'—-1" 8'~1 8’7" 7'-5" &'-8" &6—-1" 7'-0* 6'—1" 5'-5" 4'-11" 4'-g" 3'-11" J'--g" 3-2"
70.0 10-0” 9'-7" 87" 7'-10" 8-3" 7'~2" 6'-5" 5-10" 6'-9" 5'-10" 5'-3" 4’9" 4'—4" 3'-g" 3-q” 1
75.0 10°-0" 9'-3" 8-3" 7'-7" 8'-0" &-11" 6-2" 5'-8" 6'-6" 5'-8" 5-1" 4'-7" 4’2" 3-g" J-3 3'-0”
80.0 911" 8'~11" 8'~0" 7'-4" 7'-g” 6'-9" §'-0" 5'-8" 54" 5'-g" 411 4'-6" a'~1" 3'-6" 32" 2-10"
85.0 9'-10" 8'-8" 7'-g" 7—1" 7'-6” &'-8" 5'—10" 5'—q4" &'—1" 5'—q" 4'-g" 4'—4" J-11" 3'-5" 3'-1 2'-g"
90.0 9'~8" &—5" 7=7" ) 611" 7'-4" 6'-4" 5'-8" 52" | &-11" | 5-2" 4'-7" 4-2" 3-10" | 3'-¢4” 30" 2'-g"
95.0 9'-6" g'-3" 7'—4" &'-8" 7'=1" 6'-2" 5'-g" 50" 5'-9" 5'-0" 4'g” '~ 3'-9” 3'-3" 2'=11 2’-8"
100.0 9'-3" 8-0" 7'-2" 6-6" 611" &'-0" 5'-q” 4-11" 58" 4'~11” ¢'—¢” 4'-g" 3-g" 32" 2-10" 2'-7"
105.0 g'-0" 710" 7'-g" 6'-5" 8'—9" 5'—10" 5'-3" 4'-g" 5'-g" 4'-9" 4'-3" 311" J'-8" 31" 2’9" 2'-g"
110.0 810" 7'-8" §'—10" 6-3" 67" 5-g” 5— 4'-8" 55" 4'-8" 42" 310" 36" 3'-0" 2'-8" 2'~5"
115.0 87" 7-6" | 6'-8" 6'-1" 6'-6" 5'-7" 5'-0" 47" 5'-3" 47" 4-1" 3-9” 3-5" =11t | 2-7” 2'-5"
120.0 8'-5" 74" &'-6" 60" 6'—4" 5'— 411" 4'~6" 52" 4'-6" 4'-0" J'-8" 3'—4" 210" 27" 2'-q"
125.0 8'-3" 7'-2" &'-5" 5'-10 §'-2" 5'-4" 4'-10" 4'=5" 51" 4'—4" 311" 37" 3'-3" 2'-10" 2'-g" 2'-4"
130.0 a'-1" 7'-0" §'-3" 5-g" &1 53" 4'-9” 4'—4" 4'—11" 4'-3" 3~10" 36" 3'-2" 2'-g" 2'-g" 2'-3"
135.0 7'=11" g'-11" g'-2" 5'-8" 6'-0" 5’2" 4'-7" 4'-3" 4’-10" 4'-2" 3'-g" 3'-5" 3-1" 2'-g" 2'-5" 2'-2"
140.0 7'~10" &'-9" 6'-1" 5'-g" 5'-10" 51" 4'-6" 4'-2" 4'-g" 4'-2" 3'-8" 3—d 37" 2'-8" 2'-5" 22"
145.0 7’8" g'-8" 5'-11" 5'-5" 5'-g" 5'-0" 4'-6" 4'—1" 4'-8" 4'-1" 3'-8" 34" 3'-g" 2'-7" 2'-4" 2'-2"
150.0 7'-7" &'~6" 5'-10" 5'—4" 5-8" 4'— 4'-5" 4'-0" 47" 4'-0" 3-7" 3’3" 30" 2-7" 2'-4" 2-1" PRODUCT REVISED
155.0 7'_5" 6'e5" 5'~9" 5'-3" 57" | 4-10" a-gm | 3orr | 4-6" | o1 | 36" g-z" | 2- 2'-g" 2'-3" 2'-1" gﬁm e Florida
160.0 74" &'=4" 5'-8" 5'-2" 5'-6" 4'-9" 4'~3" J-11" 4'-6" 3'-10" 3-5" 3-2" 2°-10” 2'-g" 2'-3" 2'-0” Amml%ésg‘}
165.0 72" 6'-3" 57" 5'-1* 5'-5" 4'-8" 4'-2" 3'-10" 4'-5" 3'~10" 3'-5" 31" z2'-10" 2'-5" 2'-2" 20" E 13
170.0 71" 8'-2" 5-6" 50" 54" 4’-7" 4’1" 3'-9”" 4'—4" 3-g" J'eg” 3*.‘; jo} ”‘2'—9" 2-5" 2'-2” 2'-0" ‘3‘;‘“ Prodot Coutrot
175.0 7'-0" 6—1" 5'-5" 4'=11" | 5-3" 4'-6" 4'~1" 3'-8" 4-3" 3'-8" 3’4" d,i'ég\o;\ ﬂlz, ,g*:: 2'-5" 2'-1" 1'—11"
\\“§~ \C’ENQ? K4 3 FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
\ i '. 32 ,
¥ STORM BAR SPACING SHALL BE SUCH THAT MAXIMUM SLAT SPAN SHALL NOT BE EXCEEDED. § No. 441 67 ‘&‘§ 02012 TRTECO, INC. RLL—3 SLAT ROLL—-UP SHUTTER| 2"
b :
1 T / IiLlEco ., \ ROLLAC SHUTTERS OF TEXAS, INC.| i/
3 K TR <§~" & LT, TESTING & ENCINEERIvG, COUPARY PassLAD, 75, 77981 12-037
.__‘f S/ ONA\- €\§ Phong : (:o_srjr?;rl-:gﬁ C;g; OI(ggsn)qan-wJ: - PHONE: (800) 880-0922, FAX: (281) 485-0839 SRANING o
“ssrosarnst"! WALTER A CIRLT oF. PE. S - 157 az/:‘;;rz 5 S > :
FLORIDA Lic, § 44167 2 : SHEET 11 OF 13




HEADER LOADING CHART

MAXIMUM _A.S.D. DESIGN PRESSURE RATING _(p. s. f.) AND CORRESPONDING MAXIMUM

SPAN "L” (Ft.) FOR A GIVEN TYPE OF HEADER AND STORM BAR HEIGHT (Ft.).

(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE A.S.D. LOAD)

MAXIMUM

A.S.D. TYPE 1 HEADER TYPE 2 HEADER ® TYPE 3 HEADER

DESIGN 2" x 4" X 1/4" 2"x 4" X 1/8 1"x 4" X 1/8

PRESSURE
RATING STORM BAR HEIGHT STORM BAR HEIGHT STORM BAR HEIGHT
(p.s.f.)
< 7'-0" 7'10 9 g’ 70 10° < 5-0" 5' 10 8 < 5'-0" 57107
H0LF 15'-1" 14'-0" 13-2" 12'-0" 11°-2" 7’1" 6'-6"

35.0 14'-9" 13'-0" 12'-4" 12'-0" 10'-4" 7'=1" 6'-6"
40.0 13'-g” 12'-2" 11'-6" 12'-0" 9'-8" 7'~1" - 6'-6"
45.0 13'-0" 11'-5" 10'-10" 11'-6" g'~1" 7= 6'-4"
50.0 12'—4" 10'-10" 10'-4" 10'-11" g'-g" 7'=1" 6'-0"
55.0 11'-9" 10'-4" g'-10" 10'-5" 8'-3" 6'-10" 5'-g"
60.0 113" 911" 9’5" 10'-0" 7'=11" 6'-6" 5'-6"
65.0 10'~10" 9'~6" 9’0" 9'-7" 7=7" 6'-3" 5'—4"
70.0 10'-5" 9'-2" g-8" 9'-3" 7'-4" 6'-0" 51"
75.0 10°~1" 8-10" g'-5" 8-11" 7—1" 5-10" 4'-11"
80.0 9'-9" 8'-7" g'-2" 8'-8" 6'-10" 5'-8" 4'-9”
85.0 9'-5" 8'-4" 711" 8'-8" 6'~7" 5'-g" 4'-8"
90.0 g-2" 8-1" 7'-8" §-2" 6'-5" 5'—4" 4'-6"
95.0 8-1" 7'-11" 7'-6" 7-11" 6'~3" 5.0 4'-5"
100.0 8’8" 7'-8" 7'-3" 7'-g" 6'-1" 51" 4=3"
105.0 8'-6" 7'-6" 7—1" 7'-8" 6'-0" 4'=11" 42"
110.0 8'=4" 7'-4" g'—11" 7'-4" 510" 4'-10" 41"
115.0 8'-1" 72" &-9" 7'-2" 5'-8" 4'-9" 4'-0"
120.0 7'=11" 7'-0" &'-8" 7'-1" 5'-7" 4'=7" 3'-11"
125.0 7'-9" &—10" 6'~6" 6'-11" 5'-6" 4'~6" 3'~10"
130.0 7’8" 6'-9" 6’5" 6'-9" 5'—4" 4'-5" 3'eg”
135.0 7'~6" &'-7" 6'-3" 6'-8" 5'-3" 4’4" 38"
140.0 7'eq" 6'-6" §'-2" 6"-6" 5'-2" 4'-3" 3'-7"
145.0 7'-3" 6'-5" 6"~1" 6'-5" 51" 4’2" 37
150.0 7'-1" 6'-3" 511" 6'—4" 5-0" 4'-2" 3'-g"
155.0 7'-0" 6-2" 5-10" 6'-2" 411" 4" 3’5"
160.0 6'—11" §'-1" 5'-9" 6'~1" 4'-10" 4'-0" 35"
165.0 6'-9" 6'-0" 5'—8" §'~0" 4-9" 3=11" 3'—q”
170.0 6'-8" 511" 57" 5'-11" 4’8" F-11" 3'-3"
175.0 6'-7" 5'-10" 5'~6" 5'~10" 4'-7" 310" 3'-3"

J111100205,,

N Q‘?\ A. T[
\“ é\’ (

..uoo
" .
.

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

@2012 TILTECO, INC.

/TLIECOme. \

BISS NW. Jath,

TILLIT TESTING & ENGINEERING COMPANY
Sio. JO5, VIRGINIA GARDENS, F1. 33168
Phons ! (.ms}az: 1530 . Fox ! (305)871-1531

a—muail: tilteco@aol.com

E@-0006719

WALTER A, TILUT Jr, P.E
FLORIDA Lic, # 44167

RLL—3 SLAT ROLL—UP SHUTTER| ovus’
ROLLAC SHUTTERS OF TEXAS, INC.| ©//v
H331 ORANGE STREET
A , TX.
PHONE: (800) 8‘;%—%;2’2 TﬁAx??z?:) 4850839 12-037
REV. No CESCRIPTION DATE REV. o DESCRIPTION TATE DRAWING No
1 02/17/12) 5

OLD 09--124

2

4

SHEET 12 OF 13




- MULLION LOADING CHART

MAXIMUM A.S.D. DESIGN PRESSURE RATING (p. s. f.) AND
CORRESPONDING MAXIMUM SPAN "L" (Ft) FOR A GIVEN TYPE OF

MU,

ULLION SPAC!

(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE A.S.D. LOAD)

M:)gﬁgUM TYPE 1 MULLION TYP€ 2 ;"I/fULU?N YPE 3 MULLION
oEsioH o xS x T Zx 31
PRESSURE
RATING MULLION SPACING MULLION SPACING MULLION SPACING
(p.s.f) Y 1 ; 1 T ; A 1 ;
S 4-0"|4 105|508 4-0"|¢TOE|5T08 g 3-0"|3FT04|4T05

0O | 120 | 12-0" | 12-0" | 90" | 9=0" | &=10" | 7~10" | 72" | &-7"
35.0 12-0" | 12'-0" | i12'-0" | 9°-0" 9'-0" | 8-2" 7'~5" 6'-9" §'-3"
40.0 12'-0" | 12'=0" | 12’-0" | &-10" | 9-0” 7'-8" } 7'-2" | 6'-8" 6'-0"
45.0 12-0" | 12'-0" | 12'=0" | &'-4" 9'-0" 7'=3" | 6'-10" | &'-3" 5'-g”
50.0 12’0 | 12'=0" | 12’=0” | 7-10" | 8-8" | 6'~10" | 67" | 60" 57"
55.0 12z2-0" | 12’=0" -} 116" | 7-6" | 8-3" 6'-6" | 6-5" | 5-10" | 5-5"
60.0 12°-0" | 120" | 11-0" | 7-2" | 7-11" | 6'-3" 6'-3" | 58" 53"
65.0 12'-0" | 120" | 107" | &-11"| 7-7" | 60" 6'-1" | 5'-6" 5'-1"
70.0 11~9” | 12'=0” | 102" | 6-8" | 74" §'-9" | 5'-11" | 54 5-0"
75.0 114" | 12'=0" | 9'~10" 6'=5" 7= 57" 1 5'-g” 5-3" =11
80.0 11’=0" | 12’-0" | 9'-6" 6'-3" | e-10"| 5-5"| s5-8" | 5-2" 4’9"
85.0 10'-8” | 11-8" | 9'-3" | 60" 6-8" 5-3" 1 5-7" | 5-0° 4'-8"
90.0 10—4” | 11=5" | g'=0" | s~10" | 6-5" | s5~1" | 5-5" | 4-11 4'-7"
95.0 to’=1" | 11°-1" | g-9" | 5-9" 6'-3" | 5'-0" | 5'-4 4’~10’ 4'-6"
1000 | g'-10" | 10'-10"| 8-6" | 5-7" 61" | 4'~10" | 53" | 4-9" | 4-5"
105.0 g'-7" | 10-6" | 8&'-4” 55" | 6-0" 4-g" | 5-2" 4'-8" 4'—q”
110.0 94" | 103" | 8-2" | sy | 5-10" | gz | 51" 4=7" 4=2"
115.0 g'-2" | 1o'=r" | 711" | 52" 5'-9" 4'-g” | 50" 4’7" 4’1"
120.0 8'-11" g'=10" | 7=9" | &-1" | 8-7" | 45" | 4-11" | 4-6" | 4-0"
125.0 &'-9" 9'~g” | 7-8" | 5-0" | 5-6" 4’4" | 4-11" | 45" ) 3o
130.0 -7" | 9-6" | 7-6" | 411" | 5-4" 4'-3" | 4'—10" | 4'-4" } 340
135.0 §'-5" g'—3" 74" 4'wg” 5'-3" 4'—2" 4'—g" 4'-3" 3_g*
140.0 8'-3" g'—1" 7'-3" 4'—g" | 5-2" 4—1” 4'-8" 4’2" 3'-g
145.0 8'-2" 9'—-0" 7'=1" 47" 51" 4'-g" 4'-8" 4’1" 3-8’
150.0 g8'-0" | 8'-10" | 7-¢” g7 | =0 | 3-11" | 47 | 40" | -7
155.0 7-11" | 8-8" | 6-10"} ggv | 411"} I-11"} 4" | I-11"] 3"
160.0 7-9" | 8-6" | 6-9" | gp_5v | 410" | 3-10"| 4= | I-11"| 3_g"
165.0 7'-8" 8'-5" 6'-8" 4'—q” 4'—-g” 3'wg” 4'-5” | 310" | 35
170.0 7'-g" 8-3" 1 6-7" 4-3" 4'-8" 3-9" 4'—4" 3’9" 35"
175.0 7'-5" | 8-2" 6'-5" | 4-3" | 4-8" | 3'_g" 4'—4" | 397 | 34"

o" '\V.
K &*

Pty

iz

o

= 2

-
-

-
-
"’

NOTES :

REFER TO ELEVATIONS ON SHEET 1A OF 13
T—. FOR MULLIONS INSTALLED W/O STORM BARS

A) MULLION SPACING SHALL BE SUCH THAT MAXIMUM SLAT SPAN SHALL NOT BE EXCEEDED.

2-, FOR MULLIONS INSTALLED W/ STORM BARS & HEADERS
A) MULLION SPACING SHALL BE SUCH THAT MAXIMUM HEADER SPAN SHALL NOT BE EXCEEDED.

B) STORM BAR SPACING SHALL BE SUCH THAT MAXIMUM SLAT SPAN SHALL NOT BE EXCEEDED.

........

*

trssrrstt?tt

SIDE_RAIL (R) ANCHOR SPACING SCHEDULE: *

MAXIMUM A.S.D. _DESIGN PRESSURE RATING

(p.s.f.) FOR CONNECTION TO PQURED CONCRETE
OR CONCRETE BLOCK WALL SUBSTRATE
MAXIMUM SLAT TYPE 1 ((B))
A.S.D. (RLL=3) ®
DESIGN
prESSURE | SUBSTRATE R (RLL—32)
ijzf;’g SIDE RAIL
C. BLOCK 6" 6" 6"
80 OR LESS
CONCRETE| 6" 6" 6"
c. BLOCK| 3 1/2" 4" 6"
>80 TO 150
CONCRETE| 6~ 6" 6"
C. BLOCK 3" 3 1/2" 6"
>120 TO 175
CONCRETE| 6" 6" 6"

* MAXIMUM ANCHOR SPACING (in.) AT SIDE

RAILS VERSUS EDGE DISTANCE

= E.D.

MAXIMUM ANCHOR SPACING ARE
VALID FOR 3" EDGE DISTANCE.,

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

22012

TILTECO, INC.

/TilECom. \

TILLIT TESTING & ENGINEERING COMPANY
VIRGINIA GARDENS, Fl, 33166
Phone ¢ (305)871-1530 . Fox : {305,871—1531

6355 N.W. 36th, St

Ste. JO5

e--mail: tiltaca@aol.com
EB-0008719

WALTER A TILLIT Jr. P.E.

FLORIDA Lic. # 44167

REV. Ka

DESCRIPTION

DATE

REV. No

DESCRIPTION

QATE

RLL—3 SLAT ROLL—UP SHUTTER| o%m v
ROLLAC SHUTTERS OF TEXAS, INC.| °¥/u/i2
5331 ORANGE STREET
PHONE: (800) 3’;‘3‘_’?33’2"5; Tﬁtx?(sz?f) 4850839 12-037
DRAWING Na

! oLp 0g9-124

02/17/12]
|

J

2

4

SHEET 13 OF 13




